
y′ − y = −te−2ty, y(0) = 1

(4x3y + 2xy2)dx + (3x4 + 4x2y)dy = 0
μ = μ(y)

y
′′′ − 4y′ = t + 3cost + e−2t

y′ = (y − 2)sin(πy)
0 ≤ y ≤ 4.

y′(t) = A, y(t), y(0) =

[
a
b

]
A =

[ −1 6
1 −2

]
.

[0,∞).

Laplace

y
′′

+ 3y′ + 2y = 6et, y(0) = 2, y′(0) = −1.

y′(t) = Ay(t) + β(t), y(0) =

[
0
1

]
A =

[
2 1
0 2

]
β(t) = et

[
0
1

]
.

eAt

(1+t2)y
′′
+2ty′−2y = 0

t0 = 0).









y′′ + ty = 0 , y(0) = 1 , y′(0) = 1.

y′(t) = Ay(t) , y(0) = y0

A =

⎡
⎣ 2 3 −3

0 −2 1
0 −1 0

⎤
⎦ , y0 =

⎡
⎣ 2

1
2

⎤
⎦ .

y′ =
(y2 − 4)(sin2 y3 + cos y − 2)

2
, y(0) =

1
2
.

y = ϕ(t)
ϕ(t) < 2 t

Φ(t) =

[
2 ln t

0
1
t

]
, t > 0,

y′ =

[
0 1

0 −1
t

]
y

y(1) = [−2, 1]t

α

y′ − 1
2
y = 2 sin t , y(0) = α.

ψ1 ψ2

y′′ + 2y′ + 5y = f(t),

f
lim

t→+∞ |ψ1(t) − ψ2(t)| = 0.

y′ = y(y2 − μ) , μ > 0.

μ = 1 y(0) =
1
2

lim
t→−∞ y(t) , lim

t→+∞ y(t)

(1 − t)y′′ + ty′ − y = 2(t− 1)2e−t , 0 < t < 1.

y1(t) = t










